Shift Register Review

NAME:
QO Q1 2 3
lgz 17 lgz 17
~1PR ~2PR ~1PR ~2PR
41 1Q M5 91 23 2Q X 411 1QH> 91 29 2Q L
——Lop 1CLK Bop 2cLK —1op 1CLK Bop 2cLK
— 16| 1 _10H4 12| ok ~2qHQ 16 1k _10H4 12| ok —2qHa
~1CLR ~2CLR ~1CLR ~2CLR
3 lTs 3 lTs
Clock
Reset
Name Of Circuit? 2 Pts possible

Q1

Q2

Q3

4 Pts possible

10F7



Shift Register Review

. QO . Ql — 2 —— 3
& & P &
~1PR ~2PR ~1PR ~2PR
L4113 1Q M5 9123 20 X 4113 1Q M5 2123 20 1
—Lop 1CLK —8op ocLk lop 1CLK fop 2cLK
— 16 1 ~10H4 12] ok 2qH0 16 1k ~10H4 12] ok 2of0
~1CLR ~2CLR ~1CLR ~2CLR
3 3 113 118
Clock
Reset
Name Of Circuit? 2 Pts possible

Q1

Q2

Q3

4 Pts possible

20F7



Shift Register Review

] QO 1 Ql 2 1
P Y P &
~1PR ~2PR ~1PR ~2PR
L4113 1Q M5 9123 20 X 4113 1Q M5 9123 20
—1op 1CLK —80op 2cLk lop 1CLK —60b oLk
—16) 1 _10H14 12 5 —2qHO 16f 1k _10H4 12 5 20
~1CLR ~2CLR ~1CLR ~2CLR
T3 T8 1T3 T8
1
Clock

5V

Give the outputs for the first 10 clock pulses.

2 Pts possible

QO Q1 Q2 Q3

30F7



Clock

Shift Register Review

0
1 1
& &
~1PR ~2PR
15 9

1 2
1
& 1Y
~1PR ~2PR
1] 1Q 2] 2Q Y 4113 1QH5 2123 20
1CLK —8op ocLk —Lop 1cLK fop ocLK
1K ~10H4 12| ok ~20HQ 16 1k ~10H4 12| ok ~2qHQ
~1CLR ~2CLR ~1CLR ~2CLR
13 8 13 8
1

Give the outputs for the first 10 clock pulses.

2 Pts possible

Qo0

Q1

Q2

Q3
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Shift Register Review

1 Q0 1 Q2 1 Q3
J2 ]7 &2 &7
~1PR ~2PR 1 ~1PR ~2PR
Clock 140 1Q P& 122 21 411 1QH5 1242 2Q 1
«—lopicLK Bob 2cLK L——1op 1cLK +——-fob ocL K
1 1601k ~-1QH4 112k 2QH2 1 -8 1 -1QH4 112 2« ~2QHL
~1CLR ~2CLR ~ICLR ~2CLR
3 1T8 3 ‘8
R g

—{

Press the Reset switch to start.

Give the outputs for the first 16 clock pulses.

2 Pts possible

Qo0 Q1

Q2

Q3

SOF7
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'p g
~1PR ~2PR 1 ~1PR ~2PR
Clock 140 1Q P& 122 21 411 1QH5 1242 2Q 1
o +—IopicLK +——-6op ocLK L——1op 1cLK L—6op ocLK
1 1601k ~-1QH4 112k 2QH2 1 -8 1 -1QH4 112 2« ~2QHL
~1CLR ~2CLR ~1CLR ~2CLR vEe
o o o o
|18 18 3 s

Press the Reset switch to start.
Give the outputs for the first 16 clock pulses.

2 Pts possible

QO Ql Q2 Q3
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Shift Register Review

Fill in the blanks with the output of each gate (1 or 0)

12 Pts possible

o ) o e
o >
D S
o
L ) > B
o 1D
2 D ________ 5 _)D__ ““““
1 —{>e——— _Z)_Ji -

;
|

70F7



